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‘The pie charts show information on the grades achieved in mathematics by the girls and boys at a
school.

(@) For the Girls’ pie chart, calculate

@ x

Answer(a)(i)x=

21

(@) the angle for grades B, C or D.

Answer(a)(i)

(b) Calculate the percentage of the Boys who achieved grades E, F or G.

e ) () &5 Answer(b)

(€) There were 140 girls and 180 boys.

(@ Calculate the percentage of students (girls and boys) who achieved grades 4 or A*.

Answer(c)(i) % B1
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How many more boys than girls achieved grades B, C or D?

Answer()

.2

(@) The table shows information about the times, £ minutes, taken by 80 of the girls to complete
their mathematics examination.

Time taken ( minutes) | 40< /<60 | 60<r=80 [ 80<r=120 | 120<r=150

Frequency s 14 2 E

(@ Calculate an estimate of the mean tim taken by these 80 girls to complete the examination.

Answer(d)(i) min (4]

(@ Onahistogram, the height of the column for the interval 60 < 1 < 80 is 2.8cm.

Calculate the heights of the other three columns.
Do not draw the histogram.

Answer(@)(ii) 40 < 1= 60 column height om
80 < 1= 120 column height om
120 < = 150 column heigh em [4]
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5 () A farmer takes a sample of 158 potatoes from his crop. He records the mass of cach potato and

the results are shown in the table.

Mass (m grams) | Frequency
0<m=d0 6
d0<m=s0 10
$0<m= 120 B
120 <m< 160 7%
160 < m <200 2

200<m =240 16

Calculate an estimate of the mean mass.
Show all your workineg.

Answer(a)

(B) A new frequency table is made from the results shown in the table in part (a).

Mass (m grams) | Frequency
0<m=s0

50<m=200

200<m =240 16

@ Complete the table above.

e[

21

On the grid opposite, complete the histogram to show the information in this new table.
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() A bag contains 15 potatoes which have a mean mass of 136,
“The farmer puts 3 potatoes which have a mean mass of 130 nto the bag.
Calculae the mean mass of all th potatoes in the bag.
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| Two discs are chosen at random without replacement from the five discs shown in the diagram.

1sd}

(@ Find the probability that both discs are numbered 2.

Answer(a)(i) =]
(@) Find the probability that the numbers on the two discs have a total of 5
Answer(a)(ii) Bl
(i) Find the probability that the numbers on the two discs do not have a total of 5.
Answer(a)(iii) m

(b) A group of international students take part in a survey on the nationality of their parents.

€
{students with an English parent}
{students with a French parent}
B(8)=50, n(E) =15, n(F) =9 and n(EUF)
o
@) Find n(EnF).
Answer(b)(i) 0]
Page: 501 5 S Engiish (Caribbean) (i) Findn(E'UF).
@ [ E @ = e Answer(b)(i) m
“‘ A student s chosen at random
Find the probability that this student has an English parent and a French parent.
Answer(b(ii) 0]
(i) A student who has a French parent is chosen at random.
Find the probability that this student also has an English parent.
Answer(biiv) m

= e B





